WMPO-A59 - MPO-AJS0
COMPLEMENTARY SILICON AF MEDIUM POWER TRANSISTORS
‘ | ' =T RCINIC

THE MPS-A05, MPS-A06, MPS-A55, MPS-A56 CASE T0O-92A
AR® SILICON PLANAR EPITAXIAL,TRANSISTORS

TOR AF DRIVERS AND OUTPUTS, AS WELL AS

FOR UNIVERSAL APPLICATIONS. THE MPS=AOS, S
MPS-AO6 ARE NPN AND ARE COMPLEMENTARY TO

THE PNP MPS-A55 AND MPS-A56 RESPECTIVELY.

- EBC
MPS-AO5(NBY)  MPS-A06(NEN)
ABSOLUTE MAXIMUM RATINGS  For pop devices. voltage and current values are negative. MPS-A55(PNP)  MPS-A56(PNP)
Collector-Rase Voltage VeBO 60V 80V
Collector-Emitter Voltage : VCEO 60V 80v
Emitter-Base Voltage VEBO 4v
Collector Current I¢ 0.5A
Collector Peak Current (t<10mS) IcM 1.5A
Total Power Dissipation (TC=250C) Piot 1.5W
- (Ta=25°0) 625mW
Operating Junction & Storage Temperature Tj, Tgtg -55 to 150°C

ELECTRICAL CHARACTERISTICS (TA=25°C unless otherwise noted)

MPS-AO0S(NPN) | MPS~AQ6 (NPN)
PARAMETER SYMBOL  [MPS-AS55(PNP)|MPS-A56(PNP) |UNIT|TEST CONDITIONS
MIN  MAX | MIN  MAX

Collector-Emitter Breakdown LVoRo * 60 80 V |Igc=lmA 1Ig=0
Voltage
Emitter-Base Breakdown Voltage | BVEBO 4 4 V |Ig=O.lmA IC=0
Collector Cutoff Current Icnro 100 100 | na' VCB=VCBO IE=0
Collector-Emitter Saturation VeE(sat)* 0.25 0.25| Vv |I¢=100mA
Voltage Ip=10mA
Base-Fmitter Saturation Voltage| Vpgp 1.2 l.2 | V [Ic=100mA VCE=1V
D.C. Current Gain HFE * 50 50 Ic=10mA V(CE=1lV
50 50 I¢c=100mA VoE=1V
Current Gain-Bandwidth Product | frp
MPS-405, 06 only 50 50 MHz {Ic=100mA VCE=1V]
- MPS-455, 56 only 100 100 MHz [Ic=100mA VCE=2V]
’
~ |Collector-Base Capacitance Cob 20 20 | pF |VgB=10V Ig=0
' f=1MHz

* Pulse Test : Pulse Width=0.3mS, Duty Cycle=l% :
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MPS-A05 . MPS-A06 . MPS-A55 . MPS-A56

TYPICAL CHARACTERISTICS
(TA=250C unless otherwise noted)
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